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Introduction to inequalities

Choose numbers that are correct for a given inequality. Write an
inequality for a set of numbers

Find integers that fit into an inequality

Inequalities on a number line

Solving inequalities and putting their solutions on a number line

Solving inequalities
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Shading regions on a graph




Inequalities

< less than < less than or equal to >more than > more than or equal to
Put the correct inequality in between n could ONLY be -5 ,-2,0,3,40r 7. n can be any whole number. Positive,
the numbers. Either > or <. Werite down the possible value of n negative or zero. Write all the possible
1)3< 8 for each of these inequalities. values of n.

eg. if n>3 thenn could be 4 or 7. eg 2 <n<8, means 2 is less than n and

2) 0563 2 048 nis less than 8.n could be 3,4,5,6 or 7.

3) 0862 < 09 Hn=23 3,4,7
4) -3> -7 2yn<4 -5,-2,0,3 1)4<n<7 5.6
5) -3 £ 6 3)2n>6 4,1 2)3<n<é6 3,4,5,6
o Lt 4yn<0  —S,-2 3)-2<n<2 -2,-1,0,1
‘ 3 5)10-n>6 -5,~%,0: 5 4)-3<n<3 -2,-1,0,1,2]
2 2 S 1 6)n2>10 -5, 4, 7 5)-8<n<-4 =7,-6.-Y,-%
3 2 Nn2<2 W, 3,0,72,7S 6)-1<n<2 —1,0,1,2
8) 3 ¢ 2 8)2n+1<7 ©O, -2,"-3 7)n>2andn<5 3 &
5 3 9)nz+n<20 3,0,-2 8)nz-2andn<1 -2,-1,0
0) 4 5 075 10)10+n<2 7,-2,-5 9)n=0andn<1 O
5 10)n2<9 -3.-2,-,e 2]
10) 035 < -2—

®




Inequalities

1 4 < X
2 4 < x
3 4 < x
4 4 < x
5 -2 < X
6 0 < x
7 -1 < X
8 -1 < X

X is an integer. Shade in the possible values of x
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Write down all the whole numbers (n) that fit into B Write down the FOUR smallest whole humbers (n) that fit into

this inequality -1<n<3 this inequality n>1

o { ' ) 2 i 3 2— (3, L"c )—’
Write down all the whole numbers (n) that fit into 6 Werite down the FOUR largest whole numbers (n) that fit into
this inequality .3 <p<1 this inequality n<8g

_3,-2’—|’O,, glé/ 7( 8

Write down all the whole numbers (n) that fit into
this inequality 6 <n<10

6.17,¢,49

Write down all the whole numbers (n) that fit into
this inequality 2<n<9

3,4.5,6£,7,%



Using Number lines to represent inequalities > greater than 2 greater than or equal to

< less than <less than or equal to
An unshaded circle for <and >
X>6 x<8§
O - < O
1 1 1T 1 & 1 1 T 1
4 5 6 7 8 9 10 11 4 5 6 7 8 9 10 11

A shaded circle for > and <
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Equations (one answer)  Inequalities (a range of answers)

Solve these equations Complete the number scale, put the solution on the number line
1)x-3=13 XxX=16 1) x-3>13 X >l6 5)4x-3<21 g < (
(
2)x+4=11 x=7] L | 1 1 * 1
4 1y 16 V1 13 y § © 7 8
3)2x+1:=21 =t
) ax 2=10 2)x+4<11 X <7 6)§-3<5 Z <16
4)3x-3=9 x= Y <__-—-—-£P & N
) L] 1] T 1 1 1
5)4x-3=21 x2=6 S 678 9 e 15 le 118
3)2x+1221 Y 2 LO 7)142x+2 I+-2 2 X
6) X-3:=5 xA=16 ‘2312
2 : ?————’—9 < X &
L L L ? L
7N14=x+2 x=12 g 4 o || 12 j0 1012 13 (e
4)3x-3<9 y £ L4 8)7 > 10 - x

8)7=10-x x=3

<_|_~—? II?__I-___I’>

I I
2 3 &k 5 6 i 2 3 & s
Make 3 Ppasittive b mouty
7 >10-X
94+ >10

@ x >3



Solve these Equations and Inequalities

1) Equation

Inequalities

2) Equation

Inequalities

3) Equation

Inequalities

4) Equation

Inequalities

XxX+3=7

XxX+3>7

X+3<7

XxX+3<7

x+327

2x+1=11

2x +1>11

2x+1 <11

2x+1<11

2x+1211

12-x=6

12-x>6

12-x<6

12-x<6

12-x26

3x-1=8

3x-1>8

3x-1<8

3x-1<8

3x-128

X=4
X o4
x<Y
&

1

X

x 2 ¢

x= S
Xx >3
X <3S
X< S

x 2

x= b
x <6
X >6
x= b

X £

x=3
x >%
x<J3
x&3

x23

126+X

5) Equation

Inequalities

6) Equation

Inequalities

7) Equation

Inequalities

8) Equation

Inequalities

3<x

4x+2 =30
4x +2 > 30
4x +2 <30
4x+2 <30

4x +2 230

14=6x+2
14 >6x +2
2>
14 <6x + 2
14<6x+2
1426x+ 2
8x-2=5x+7
3x =9
8x-2>5x+7
8x-2<5x+7
8x-2<5x+7

8x-225x+7

4x -2=6x+8
-10=25¢

4x -2>6x+8
-S>

4x -2<6x+8

4x -2<6x+8

4x-226x+8

Solve these inequalities

9)4x+1>2x+9 I>4
x>
10) 3x+8<7x-4
12< Ly 1)]

x= 7

x=3
x>3
x<3

x&3
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Inequalities and Regions

Broken line < or >

the equations of the lines are x = 3
and-x-*
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Nearly always describe the shaded region,
but read the question carefully to check.

Test with a point to make sure.

the equation of the line isy = 2x + 2
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